1,432,727
= 174,859
A 318,000
= 939,868
OHE Bt MEI|B DE(DTDEALCE/TLYTH - L) 933,659 737,388 196,271
= 174,859
A 318,000
= 440,800
Ty 2els 28 933,659 737,388 196,271
= 174,859
S 318,000
< 440,800
WHUS S =g 224,300 232,100 27,800
201 2yl 166,100 163,100 3,000
01 ALR 2| 33,000 30,000 3,000
OoF ZEHM =W Y B 33,000
02 B2 133,100 133,100 0
oMU MES SHABA FXNBS 19,800
ORSIHBSFH |FNBS 113,300
202 014l 35,200 46,000 210,800
01 2UHOfHI 25,200 36,000 210,800
oS Yexx 25,200
03 2201t 10,000 10,000 0
OTHLHOIHAIZ FHOIYAR 28 10,000
203 YR =T 23,000 23,000 0
N ESSEESI 23,000 23,000 0
OTLAHAMYSR 2T 23,000
HBIHSE ot 147,000 167,000 £20,000
A 88,000
] 59,000
201 QB2 126,600 115,600 11,000
A 80,000
= 46,600
01 AtR 2| 89,600 105,600 16,000
oSS AESS N 23,600
OoIEAl HDE F% BE 20,000
ootEER SYA I/ A3 Y 46,000
A 46,000
03 #AI2 Y| 37,000 10,000 27,000
OZQINFME NS 2Y 34,000
A 34,000
OLHEEES A 3,000
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2AH: otEESZ
HE: OIS MBI|Y AE(STEMUE/ LT - 1)
@ T 2eisy 23
CBA-EHHO(E) - NEANY - BAS
301 et A= 10,400
S 8,000
T 2,400
00 AAIHI B A S 10,400 41,400 A31,000
OCUANZSI2S A &4 O] 2,400
QXM ELNE 29 8,000
A 8,000
308 XX A SOl ™ 10,000 10,000 0
01 AXHHBAEEXS 10,000 10,000 0
ootz SAY Y EF2FH 10,000
T IS EEsEEH(=21) 65,000 29,220 35,780
= 32,500
< 32,500
201 Ler2dH| 57,000 23,220 33,780
= 28,500
== 28,500
01 AR 22| H| 57,000 23,220 33,780
oMHUE tde=EH X 57,000
= 28,500
& 28,500
202 o414l 8,000 6,000 2,000
= 4,000
= 4,000
01 SO HI 8,000 6,000 2,000
oMU S HEst=EdH EH 8,000
= 4,000
T 4,000
ANz 2SS sdEs N]A(2 52,110 140,000 287,890
= 52,110
308 XIS SOI&E 52,110 140,000 A87,890
= 52,110
01 HXCSHBAEES 52,110 140,000 ~87,890]|
OAlZ QteEtEd &l 52,110
= 52,110
£=0| HEAE &X(=21) 60,249 63,068 A2,819
= 60,249
403 XXX S XH2013 60,249 63,068 A2,819
= 60,249
01 XIS A2EE 60,249 63,068 A2,819
O28=0| AHFAIE &EXIXA 60,249
= 60,249
SOHEUAE =25 AdE FLEF 100,000 0 100,000
N 100,000
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=
.

ot
Ho: OLFE MEIIH RE(STINUSE/MLLT - 1S
chel X 2 2

SN -3 .- c(312) -
403 XX SIS 201 ™ 100,000 0 100,000
EN 100,000
01 AXISMAZ2E = 100,000 0 100,000
OSNAHUAG & ALS FUFA(X) 100,000
N 100,000
020l S0l SHREY Y =3 130,000 0 130,000
N 130,000
403 A XIS XZ01H 130,000 0 130,000
S 130,000
01 AXHAA2EE 130,000 0 130,000
OO0elol =0IAd DA & =22 130,000
N 130,000
MHAMEEAIE EXIA 45,000 0 45,000
405 RHaHESHI 45,000 0 45,000
01 LSS FHEH 45,000 0 45,000
OMHE A CCTV =F MW LA 45,000
2 ADUS SsEH(R1) 30,000 30,000 0
= 30,000
308 XXM SOIA 30,000 30,000 0
= 30,000
01 AXHHBEEEZ 30,000 30,000 0
Os2)| ZEALD 2AZFE & N 30,000
= 30,000
Mt AEXI Hetel BSAAY 25 80,000 0 80,000
207 A OoH Y| 80,000 0 80,000
02 & AR EHHI 80,000 0 80,000
O AEMI} SHeto MSAAE A5 80,000
NelMass o HEAN S (SIEMYLHA/AH) 428,300 283,300 145,000
QI RGH Ol 428,300 283,300 145,000
SgEAEIEES g4ds N3 93,300 93,300 0
201 LEt2Y| 10,000 10,000 0
01 At 2t2ltl 7,000 7,000 0
OSEANHZE £=MES & 7,000
03 EAI2EH| 3,000 3,000 0
OZRus ¥ /3L 3,000
202 044l 22,300 22,300 0
01 3 LA BI 22,300 22,300 0
OSEMHZE S FdH 22,300
206 M= HI 500 500 0
01 M=Hl 500 500 0
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FA S

A MO MEEs U HEA HE(SIEMALH/HE)
©e: BIMEG oY
 BA-BH.OS(B) - NBEAY - BES | ola
T er=s sz — —
305 Hi&a=2S 500 500 0
o1 &3S 500 500 0
O&1e S 0yl 500
307 212+01 & 60,000 60,000 0
02 QIZHAMANAE X 60,000 60,000 0
OYXIIHAXZHE X 60,000
IZtCHy Sd&gs X& 335,000 190,000 145,000
307 glztol & 280,000 190,000 90,000
02 QI AMYES 280,000 190,000 90,000
OLET NEXLEE XA 250,000
2 AsSggdEs X 30,000
308 AtXIEHSOIA 55,000 0 55,000
01 AXSHHMBAEES 55,000 0 55,000
ONELHAHES SAE#S N 55,000
HY2AHH(HNSZ ) (JIEH/IIE) 70,768 68,079 2,689
Jl23H4 70,768 68,079 2,689
A2 J12ZH] 70,768 68,079 2,689
201 2 Et29H| 41,668 39,879 1,789
01 AL 2telH] 41,668 39,879 1,789
ORN2Y AIRzalbl 41,668
202 044l 15,000 15,000 0
01 S WAL 15,000 15,000 0
ORAM2Z U0 15,000
203 P 2= 14,100 13,200 900
01 | 22F AR F A v 9,900 9,000 900
Ot A Z 9,900, 000& 9,900
04 EA2SYRFAHI 4,200 4,200 0
©25¢21 0I5t 350,000& x12& 4,200
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